\@\H\m A2

I
— \. Q. (3,-4>2(1,2) 5.%4=14.3 ———
— el - o = 3 b X =525
L T C._a=-24 ——
i d. b="Y4 S
. (5,2) £(2,5) =4/2y o
' 3-5 - -2 q. o (Dy> WeaAve
52 3 )y =3/4x -2
C. (—0.01,3,2)‘2.(0‘08;2.5) b-(i) '\523/23("\
32--23 > 55 = -55 Q) _uz= 3zx+Y

“0.02-0.08 - |

C. H0_A¢¢ ppposit

2, :1)\. u= 3x-2

e CADCONS . Teu

ﬁ S\ogk. 3 Qe J—(p&rpmﬁém\av)
o, \stL\.Z—Z-Bx
Sibpe.1-2.9 d. db nave #ne. Sane
C. U=5(3%-3)+2 Slopes ¢ are _paralle |
-\JX \3
- Slope 113 S. A+ 7 3
d. U-2.4%x=5 AU s~ 45
‘ f J
13\)=2\L\x*r5
B _ Slpe:2.4 W. a. yockexr A, Steepest

0. M41x+52u =12.9

Siope

uL— - .47 * 4.03

b. YDCket 8, sl AV

2 _ S\ope t-147 Slop. ¢
P Z/3 Y > 2% t'\f2 £ VUCKB’(EMQ&\
o SIope. + |




AR RS Se e PR U AR AL TR Fal Ry SR TR TR RN S S RSt SRR R TR T TR A I TR R

TR SR AR SEIR AT ETER SR T AR 1A TS ST RI SRR T e Y S Ny A L TR A B G U P LR S T L P s B T ATV B o X

Time (min)

,\
.‘@

0. o W engin ve NOLWOY , T deionnings e

- TN O fe joo.

| b. (5.6@5)'%,(‘%.5,\’(6)

3 | . \15-85 <= 90 -5

i | 95-35 L
20 - Te S\ope YYRONS 1T YOkeS

...1 . ¢ \6“\\‘(\\‘?'\’
ool

- . e fivsk Z s

6 T T OLCOUL O?W\rspa(l\rg

\eng th (F1) d y=15x¥0
0\2”—\6(’-\3*\0
3L=pD

The j0orime nbmatier the
6\2C OF Hne o



